Bt S B RA & R @ Tor AIr

PROFESSIONAL & HIGH QUALITY

EMASUER AZF =]
MRS NEE = = i

@

L 2 3 1

E=1F] Qunasmmse HIEEET]  Quasmane
2> y <

OO FAER - FELAGHEHH
i MERITRRZAMER

®
2 3 2
CIEALT] Owmamais
C—g A

1%
i) 5 AZF \ AZL
1 fill A S ®32~40+50~63~80" 100
I iR EZBEZER. (BBNEEE)
TR B AHEE 1.02 ~ 10.5 kgf/cm®
£ A B E 10 ~ +60 C (FE#E )
i & M & #ae
2] fE X R
AZF SD 50 B 50 - Y - A 1
| | | | | | | |
By | BRE | RE | 86 | 75 Rt | SEEN BB
[ [ [ [ [ [ [ [
32: 32|/ B : fitigs |tk B S AZRK 1:118
50 : ®50 : i
| | 63 : ©63 ‘
X 4= 0 oo =
AZL ‘ FA J1100: ®100 s:@ﬁ&;&ﬁ
-~ =] ==
‘ FB F : FBhiEe
AR
CA
I
RPN
CB
I
Y o -
LB

*®

| B[ 9 & A

TC ‘%:EQ??E BB \ \ \

® 11-01



@ Tor AIr

PROFESSIONAL & HIGH QUALITY

RIS U E RS & REL

=uER /IR

A= H—EHTRE

B = EETIE + B—ETRE
4-EE iREERY
f ) :
4 & 8
DF | BF
AM WF S+B S+A W
7ZZ+A+B
ALSE AM BF DF EE KK S v w WF X 7z
kg
32 22 16 10 G1/8 | M10x1.25 94 30 4 26 55 291
®40 24 20 10 G1/4 | M12x1.25 105 35 5 30 55 319
50 32 25 12 G1/4 M16x1.5 106 40 5 37 68 349
63 32 25 12 G38 M16x1.5 121 45 5 37 68 379
80 40 32 14 G38 M20x1.5 128 45 6 46 92 434
100 40 35 16 G12 M20x1.5 138 55 6 51 92 459
FENTAL | SMURS
/ﬂ 1B LR
E © © @ @ :
DF L BF
AM WF S+ 1772 S+ 172 w
ZZ + 2 x 1712
ACER AM BF DF EE KK s v w WF X yrd
FAKES

»32 22 16 10 G1/8 | M10x1.25 94 30 4 26 55 291
40 24 20 10 G1/4 | M12x1.25 105 35 5 30 55 319
»50 32 25 12 G1/4 M16x1.5 106 40 5 37 68 349
»63 32 25 12 G3/8 M16x1.5 121 45 5 37 68 379
80 40 32 14 G3/8 M20x1.5 128 45 6 46 92 434
100 40 35 16 G112 M20x1.5 138 55 6 51 92 459

® 11-02




